A FL A& B =
. N \\ I/ . 9 - \\lJ_:IA %u S A . B —L . E L. -
45'5 }—'&,—; %%D 5£E‘E ?% 7\%/9 Zl %%ﬁm I‘ R =y }\;m*ﬁ Hﬁ%ﬂ%é )@ 47 % HT éé%;\}tm%ﬁm\ NA ET\
JBATHIR | A Fn 54E 9H 6H LA 64E 2H29H | SR S S AN KL H BE |SF0 54F 8H30H 15HF104Yy
SR AR, DB ARMESIER  N=5 @0
REDOWNREIE  1=24.0m. B F> R L=14. 1m. /N F > %L 1=20.3m
R~V 1=82.7m, 7 B FJF b FL L=33.3m e b e N, \
BER Lo hmmma. o AREESIER  N= 3 REBEOEM BREHELRRE LY
fEOHNRr Y7 =y R 1=35.8m. HfEON2Emvy 7 =v K L=15.0m
FEON3EuvZ7 =y K L=32.0m
B4 4 %A 10, 450, 000 TEfmAS (Biik) 11, 541, 0009 oA O o ] - AF ( M)
) 0 1 A 5 2 ]
AN L % F 4 i %z
A FL %A JIE {37 A kL % JIE A7
(BF) = vk b 9,500, 000| 1 PR EALER 82. 32%
ifﬁ%g_yﬁ’w‘/ b OBR) 10, 400, 000| 6
(fﬂ\l‘ééi‘/%m‘/%w”’ 10, 500, 000| 8
zm%—i:‘/%v&y G 9,900,000 2
EEfpE ) @iE 10, 200, 000, 3
EEFRARRET (BF) Ju <4t 10, 500, 000| 8
%ipé% kB ASH AT B 3¢ 10, 200, 000 3
%Eﬁ%ﬁ‘ijy%ﬁy‘y (#) 10, 300, 000 5
NTR=o =%V 7 () T
I ek
(BF) w2z Jul Ktk 10, 400, 000| 6
(BF) K @ <4t 10, 570, 000| 10
oLy (KR fEiSE 11, 900, 000| 11




A L B R XK

=
G AF1 5 2 4 M ARELEET B AT BTy 40 9EEN
JBATHIR |4 fn 548 9 6H B4 54124 25H &Rl ‘ ROE O & AN KL B B | 4F0 54 8H30H 158204
OM&E T
- 1N 2 8 T F
Q%W A
i/ KB EREICET 2SI AEAD S 1HAE (2 %7 EERTEOHMB BRENEREAEEE LD
S WEREIERS O 1 1THEA KR 4 0EA (2 6 &)
O53H7 J7 1
« GBI LU B B ST B M E vk
B K %A 990, 000 TEAMmES (Biik) 918, 0004 oA O ow E] A ( M)
\ % 1 ] £ 2 [
A L ¥ F A4 — i =
A AL %A [EE A A KL % JIE A3z
(BR) BRI 2T A 980, 000/ 3
(@\[\ég PATYA R 900,000, 1 WAL %L 98.04%
PSRBT (BK) f& [ S 2E T 990, 000| 6
(Bk) CROE: 5 BB AEF S0 T 1,200,000/ 8
BT A (KK EIE 1,000,000/ 7
KR #HERErL ¥ — B 980, 000/ 3
(BK) HIEgRE St & —
i 960, 000| 2
() KPRt & — 987,000/ 5




